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1. KERECcErNmEELD> S, BEINBoDzRD, KicHEE AN k.
(SH50F, Af1325%, Bik2335%, C#Hkam)

(1)  ED// BC %> AADE: AABC=4:9. (2) DE// BC #»> AADE: A, DBCE=1:8.
ZDEE, DE:BCIZ? ZDEE, DE:BCIZ?

(3)  DE// CB #» AADE = 32cm?, AABC =50cm?. (4) ED // CB % AADE = 250cm?,

ZHEE DE:BCIE? HJZ DBCE = 240cm? ® & &, DE: BC 13 ?
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2. MEWNHICE»NHEELD S, HESNBOOLZERD, KICES AL,
(SHs5f, Afk1340%, Bi3 43, CHh4m40F )

(1) ED// BC 2> AADE: AABC=16:9. (2)  DE/BC %> AADE: &/ DBCE=16:9 .
ZDELE, DE:BCIZ? ZDLE DE:BCI3?

(3) DE// CB %> AADE = 98cm?, AABC = 162cm?> . (4) ED // CB > AADE = 144cm?,
ZDLE DE:BCIX? % DBCE = 180cm? @ & ¥, DE: BC (% ?
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1. KERECcErNmEELD> S, BEINBoDzRD, KicHEE AN k.
(SH50F, Af1325%, Bik2335%, C#Hkam)

D * HEOBFRI=AK (REEKS) K BLL? = ERL
AABC © ADEF T, #flltA%a:b DL &, AABC: ADEF = a? : b?

A
o Y #849H, ERELE 12 BREDHBHD LXT 270120, A,OTHS 2 L.
B c E ‘o ( &7 A P TldlcwToeoGs, O TH->Tw3.)
@~ ®
(1) ED//BC #»> AADE: AABC =14:9. (2) DE//BC »> AADE: A/¥DBCE=1:8.
DL E DE:BCIE? ZDEE, DE:BCIZ?

A

AADE «» AABC >,
AADE: AABC=1:(14+8)=1:9

DE : BC
2 3 V1o V9
1 3

Y/ 2 EOMETH B,
Bl 6x6=2367H5,
V36 =6

(3)  DE// CB #» AADE = 32cm?, AABC =50cm?. (4) ED // CB % AADE = 250cm?,
ZHEE DE:BCIE? H7% DBCE = 240cm? ® &£ &, DE: BC 13 ?

AADE v AABC %>, AADE «»o AABC 2>,
AADE : AABC =32:50=16:25 AADE : AABC = 250 : (250 + 240) = 25 : 49
DE : BC DE : BC
V16 : V25 V25 o V49
4 5 5 7
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2. MEWNHICE»NHEELD S, HESNBOOLZERD, KICES AL,
(SHs5f, Afk1340%, Bi3 43, CHh4m40F )

(1) ED// BC 2> AADE: AABC=16:9. (2)  DE/BC %> AADE: &/ DBCE=16:9 .
ZDELE, DE:BCIZ? ZDLE DE:BCI3?

AADE © AABC %,
AADE : AABC =16: (164 9) = 16 : 25

DE : BC
4 3 = V16 : V25
4 5

(3) DE // CB #*> AADE = 98cm?, AABC = 162cm? . (4) ED // CB %»> AADE = 144cm?,
ZDEE, DE:BCIE? H1 DBCE = 180cm? ® & %, DE: BC % ?

AADE 2> AABC %>, 144:180=4:5 TH 306,
AADE : AABC =98 : 162 = 49 : 81 AADE «2 AABC 229,
DE : BC AADE: AABC=4:(445)=4:9
V49 - /81 DE : BC
7 9 NZEERV)
2 : 3
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